HESEO0IR?

oY A X2E 2fsl SEEAAZS MBS 2 AE
29 17|, RiEl), & S0l HoRlE A2f0| 228 TR’
Of2fx BiLict, =3t Q=X oA S22 ALY £X=I0f '=ot
U= 5 BB 22 2SR "TRSE 0| ZEELICL

UFHIB7IZMRLIZ MEO| H= SIS0 TRdks S8
BoAZ 0t 59 & 2LE=20ll tisto] Al 180 flshS
FX| o2 EeloiM B siEste 2t kS YT

SOQULICE FFFR7|IZES SMES MG 22t | Hst
J|ZEe2 BE sokEo| 1S oln|sh=e mg/kg EE pomeE
HAJECH

LU MREEBAE?

= DRGAALRIUS Sof LA ARt

0%
T

T =
AgEIS o= T 15211 OjAlel HiEe @Ar— 24
SHIL UBLICE AIRS =5 BN ZAE AAlsk=t,

i tot= 2LIEE J\M
I7HROILE TR AT %‘*} H;E yez
A

1o Ho

= 4o
= T |

Ol 15004 OJAJ| SEEolIRTH Eol0f CiEt &5
HAE 235t0] 18 5712 TR 135710l SIS XY
sl 52 80 U8 S50 TR0 0 So)

oIt iz si7l S-S I FURIS X7IX| 4T,
O

N FOD|BE H7IX| 22 7ol HIOE LIEALIC,

o

Bl

ol

t

AT
]

EEAUSI= OIEA HaloHt?

FlEts7tol| chsllAl= &
R E 26t US ||:?
AHste 7t &5t Alojct =
}—1 FESE| FHZZAR g2
A20|= slE SMES H|7 et
*fffoﬂl 2[5k ELch
T2 SSEOIUE S2 AIRL S0l FRESHAH E71
AIZE 49 3|E% LiA0| LIEILL 7152 R |E S} HOX( T,
I2ot7{Lt SAEAS Solf M7 LHeEzol
SLICh JKPED| 0[L} LIMEXI= S4t=0] chgt
=712 ZRIE HS oA ELiCt,

FRM 8 - 8827

S=8YUZE FoEt S20IM siF 24=20| TRHE7IE
Olsl2 HiE=l=0l Zel= 7|zte Fv(zol2ta gL,
FU7|ZE FOSE, FOHHR(FAL S+, MEHI 8),
FoE S ‘?J %ooﬂ mat EtX)7| W2, sHEHEe

EA| &2lstu X{7{of ELct,
TS Yolz JB%HH 8Y - 82 X7[X| HALL H=0|

B ool
W sopiE 2z x= 02
| EEEES

[] aze0f o8t otz 50

2 AES 5 MEste d=R0l=, F7120] XU=
oE0| ZAFE 4 ACSZ 04 Fosio{of ELLE SEE
Q|UZ2 oMl Fla 2o 2HE =M WAL MYHS
dgttn, XME 8Y - 88 H 7ITE XA A&k
20| HigEEC

2001 2002 2003 2004 2005 2006 2007 2008 2009 2010 2011 2012 2013 2014 2015 2016




